TLM EEHE RS B

—. BOERRE

O3

PHEZ = 115200bps
K. = NONE
Byahr = 8
fZibfr =1

K36 = NONE
mEH = NONE

—. BIERRH

FITAS fis Ak Beli B2 7 b i i E (HEX)

=, HEwmLasA

i Ak =

AR | A hRiA BAEK | AR | AR | RIS | A bR
R |27 3FT 1 7 PRI ] 27

BAH | 0xCC 0x01 XX Xx xx | WLiEH PRI DLE 2 0x0D 0x0A

IR e A =

AR | B S AR IR BAEK | BEERA | AR | RBRA | BRI AR R
Mg | 25 3FN 1 AT 1 F75 2 F

BE | 0xCC 0x81 XX XX XX | JE 1 AR T 2 0x0D 0x0A

E 1 REE AR 2R = A a4 2R

v 2: I (checksum): KIS BT AT A 2 < F1,  BUR )\ AL

1. RBOLERLE ., KiEEK
A
[2aK] =0x09 0x00 0x00
[54251] =0x0F
[ 4%dE] A=
0xCC 0x01 0x09 0x00 0x00 0xOF 0xE5 0x0D 0x0A

IR (A 4 B
[S8K] =0x0D 0x00 0x00




[#dE2K%]T = 0xOF
(AT = xx xx xx xx // 4bytes: JEIE L AG K (2byte) +IE T £ 1L I K (2byte),
AN BARARAAERT, &AER
0xCC 0x81 0x0D 0x00 0x00 0xOF WL_START(2byte) WL_END(2byte) checksum 0x0D 0x0A
'WU —? :
JeREEH : 340~1000
0xCC 0x81 0x0D 0x00 0x00 0xOF 0x54 0x01 0xE8 0x03 0xA9 0x0D 0x0A

2. HEWEREUOEIE S
A
[2aK] =0x09 0x00 0x00
[r42K1] =0x02
[ 4%dE] A=
0xCC 0x01 0x09 0x00 0x00 0x02 0xD8 0x0D 0x0A

T IR B Hd
[EEK]Y (FBhibyte) =9+ 1+4+2 +6IEEHEKF
[H ALY = 0x02
[ 38888 150 VU 45 - B IRZS (1byte) +24 TR YL [H] (4bytes) -+t R AL (2bytes) +
€T
BE YIRS (uint8):  0x00--1E%; 0x01--1F i 0x02-- /% Mk
B 6] (uint32): BAA7 us, (RAZAERT, mhifE )
i R B (int16): il BB N FIRE R L SEPRMEHUR T 10 19 N . Einilie st
K 340nm XN GG EYE S 1300, N=2, MISZFR%GiEE=1300/(10"2) = 13;
JEREHHE (uint16): 1 N 5 2 AT, ARMIAERT SALTE SR, KT it s AT B
fi:
IR 6 1E 5 (0x00), HEIGHT[H] 2500us, Jaili R % N=2, 4 i H ik B B & 340-1000, ek
A Hi=661
EAK =9+ 1+4+2+661%2 =1338=0x3A 0x05 0x00 %7 7E Rl
0xCC 0x81 0x3A 0x05 0x00 0x02 0x00 0xC4 0x09 0x00 0x00 0x02 0x00(2 N7 FF) XX XX XX
XX... (661%2 NFT5) checksum 0x0D 0x0A

3. FRIEESIRPOL G HIE
A
[2aK] =0x09 0x00 0x00
[r4254] =0x03
[ %dE]1 A=
0xCC 0x01 0x09 0x00 0x00 0x03 0xD9 0x0D 0x0A

TE I [ HHfE
[2aK]) (Fh7byte) BF—WOGIEEE K SEK=9+1 +4 +2 HEIEHREKSE
(#5267 ] =0x03
LAY 75 8 =85 BBICIRE(1byte) + 4RI 1R S [H] (4bytes)+HE 1 R £ (2bytes) +



A€

HELIRS (uint8):  0x00--1E% 5 0x01--1dHE: 0x02-- KMk

GRS [A] (uint32): BAA7 us, HOAZLAERT, EALfE)G

Jeitk R E(int16): Hoi RELN R Gl Edh L SERRE UK 17 10 (N KR . iz e st
K 340nm X B G IEEIE L 1300, N=2, NSZBRGiE{E=1300/(102) = 13;

FEREHHE (uinl6): 1 ANELHE 5 2 AN, RAITERT . MRS, KT itk e A B
15”:

I L IE 9 (0x00), BEJGI [H] 2500us, Gl &% N=2, JtilkH t i B B 2 340-1000, Sl

HiE M H=661

EAK =9+ 1+4+2+661%2 =1338=0x3A 0x05 0x00 &7 7E Al
0xCC 0x81 0x3A 0x05 0x00 0x03 0x00 0xC4 0x09 0x00 0x00 0x02 0x00(2 4>FF1) XX XX XX
XX... (661%2 NFT5) checksum 0x0D 0x0A
0xCC 0x81 0x3A 0x05 0x00 0x03 0x00 0xC4 0x09 0x00 0x00 0x02 0x00(2 4>FF1) XX XX XX
XX... (661*%2 NFT5) checksum 0x0D 0x0A
0xCC 0x81 0x3A 0x05 0x00 0x03 0x00 0xC4 0x09 0x00 0x00 0x02 0x00(2 > 71) XX XX XX
XX... (661*%2 NFT5) checksum 0x0D 0x0A

4. FIERBOEE S
iy 2
[2aK] =0x09 0x00 0x00
[ 42K1] =0x04
[ 4%dE] A=
0xCC 0x01 0x09 0x00 0x00 0x04 0xDA 0x0D 0x0A

5. RMRERFER
iy 2
[E8K] =0x0A 0x00 0x00
[ 4251] =0x08
[ 535] =0x18 //3RELEA(S BHKE
0xCC 0x01 0x0A 0x00 0x00 0x08 0x18 0xF7 0x0D 0x0A

Y EIEAE/RON
[E8EK] =0x21 0x00 0x00
[ 3251 = 0x08
[HREE] = W&EE // 24byte
0xCC 0x81 0x21 0x00 0x00 0x08 #7415 & checksum 0x0D 0x0A
. #4155 E oA T3200000000FTAH-323-0000
0xCC 0x81 0x21 0x00 0x00 0x08 0x54 0x33 0x32 0x30 0x30 0x30 0x30 0x30 0x30 0x30 0x30
0x46 0x54 0x41 0x48 0x2D 0x33 0x32 0x33 0x2D 0x30 0x30 0x30 0x30 0x84 0x0D 0x0A

6. BEBEHEK

fir



[SBK] =0x0A 0x00 0x00

[425] = 0x0A

Ui 8] =xx  // BOBEIR: 0x01--- A BB 0x00-—-FZ IR
fl: BE T
0xCC 0x01 0x0A 0x00 0x00 0x0A 0x00 0XE1 0x0D 0x0A

W R IR B £ -
[E8K] =0x0A 0x00 0x00
[ 42574 = 0x0A
[ AE] =0x00
0xCC 0x81 0x0A 0x00 0x00 0x0A 0x00 0x61 0x0D 0x0A
W IR [n] e £ -
[E8K] =0x0A 0x00 0x00
[ 42574 = 0x0A
[ A% #E] =0x15
0xCC 0x81 0x0A 0x00 0x00 0x0A 0x15 0x76 0x0D 0x0A

7. IREUBREAE
iy A
[2aK] =0x09 0x00 0x00
[r4254] =0x0B
[ 4 %dE]1 A=
0xCC 0x01 0x09 0x00 0x00 0x0B 0xE1 0x0D 0x0A

S EIRER
[SAK] =0x0A 0x00 0x00
[ #2574 ] = 0x0B
[HAEIE] =xx / BB 0x01---HZIE LR 0x00----F-Zh IR AR
iR
0xCC 0x81 0x0A 0x00 0x00 0x0OB 0x00 0x62 0x0D 0x0A F-EhHE A

8. WEBRLE
i A
[E8K] =0x0D 0x00 0x00
[r425] =0x0C
[ 253 ]] = xx xx xx xx  // 4bytes BEYEHS [A] us, uint32 RALLERT SALAEG
1. BEEE A B E 100ms=100*1000us
0xCC 0x01 0x0D 0x00 0x00 0x0C 0xA0 0x86 0x01 0x00 0x0D 0x0D 0x0A

W R IR B B £ -
[E8K] =0x0A 0x00 0x00
[ #2571 = 0x0C
[T =0x00
0xCC 0x81 0x0A 0x00 0x00 0x0C 0x00 0x63 0x0D 0x0A



W MR [m] e £ -
[E8K] =0x0A 0x00 0x00
[ 3251 = 0x0C
[ A% AE] =0x15
0xCC 0x81 0x0A 0x00 0x00 0x0C 0x15 0x78 0x0D 0x0A

9. IREVERGAE
iy A
[2aK] =0x09 0x00 0x00
[r4254] =0x0D
[ 4%dE] A=
0xCC 0x01 0x09 0x00 0x00 0x0D 0xE3 0x0D 0x0A

A EIEAE/TRON
[ LK =0x0D 0x00 0x00
[HE£44]1 = 0x0D
[EREHE] =xx xx xx xx  //4byte BEYEHF[E] us, wint32 {KALLERT, @LAE)E
0xCC 0x81 0x0D 0x00 0x00 0x0D Hg& ) {F (4byte) checksum 0x0D 0x0A
Bil7: HEJE(E N 100000us
0xCC 0x81 0x0D 0x00 0x00 0x0D 0xA0 0x86 0x01 0x00 0x8E 0x0D 0x0A

10, WEHKBELEE
iy A
[E8K] =0x0D 0x00 0x00
[r42K] =0x13
[r 2% ] = xx xx xx xx  // 4bytes HEYEHT[E] us, uint32 (KALERT mAL7E)E
. B KRG (8] 152 E 9 5000ms=5000%*1000us
0xCC 0x01 0x0D 0x00 0x00 0x013 0x40 0x4B 0x4C 0x00 0xC4 0x0D 0x0A

W R IR B £ -

[E8K] =0x0A 0x00 0x00

[ #E2EA] =0x013

[ AE] =0x00

0xCC 0x81 0x0A 0x00 0x00 0x013 0x00 0x6A 0x0D 0x0A
W MR [n] e £ -

[E8K] =0x0A 0x00 0x00

[ ] = 0x013

[ A8 #E] =0x15

0xCC 0x81 0x0A 0x00 0x00 0x013 0x15 0x7F 0x0D 0x0A

11, FREUR KHR AT 8]

i 4l
[S8K] =0x09 0x00 0x00
[42KA]1 =0x14



L &% 1 v
0xCC 0x01 0x09 0x00 0x00 0x14 0xEA 0x0D 0x0A

Y EIEAE/TRON
[LAK] =0x0D 0x00 0x00
[HERM] =0x14
[AAEHE] =xx xxxx xx  //4byte BEYEHS[A] us, uint32 MRALLERT, SOLAEE
0xCC 0x81 0x0D 0x00 0x00 0x14 Mg ] (4byte) checksum 0x0D 0x0A
Bil7 . HOKBEEI ] 5000000us
0xCC 0x81 0x0D 0x00 0x00 0x14 0x40 0x4B 0x4C 0x00 0x45 0x0D 0x0A
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